E	Name of the Candidate Number and name of Constituency Name of State/Union Territory Nature of Election (Please mention whether General	ABSTRACT STATEMENT OF ELECTION EXPENSES  PART - I  The Candidate Sh/Smt/Km. SOUMYOUT DUTTA CHOUDHUR!  Ind name of Constituency LA-6, Huilolando  tate/Union Territory Assam  Plection Seneral General Section Section Seneral Section
	Name of State/Union Territory	Assam
×	Nature of Election (Please mention whether General Election to State Assembly / Lok Sabha / Bye- election)	General Election.
Y	Date of declaration of result	19/5/16.
<	Name and Address of the Election Agent	March charrebond 12140.
VII	If candidate is set up by a political party, Please mention the name of the political party	Blanctiya Janata Party
VIII	Whether the party is a recognised political party	Yes/Md

Date: 16/6/16
Place: Uni/ Mande

Signature of the Candidate Soungit But Chukhung

Name Sorrhyojit Duta Roombring

S. No.	Particulars	Amt, Incurred / Auth. by Candidate / Election agent(in Rs.)	Amt. Incurred/ authorize d by Pol. Party (in Rs.)	Amt, Incurred / authorize d by others (in Rs.)	Total Election expenditure (3)+(4)+(5)
1	2	3	4	5	6
I	Expenses in public meeting, rally, procession etc.:- I. a: Expenses in public meeting, rally, procession etc. (ie: other than the ones with Star Campaigners of the Political party (Enclose as per Schedule-1)	91316			91310/
	I. b: Expenditure in public meeting rally, procession etc. with the Star Campaigner(s) (ie: other than those for general party propaganda) (Enclose as per Schedule-2)				
II	Campaign materials other than those used in the public meeting, rally, procession etc. mentioned in S.No. I above(Enclose as per Schedule-3)	1629001			167900/
III	Campaign, through print and electronic media including cable network, bulk SMS or internet and Social media (Enclose as per Schedule-4)				
V	Expenditure on campaign vehicle(s), used by candidate(Enclose as per schedule-5)	32800	<b>/</b> :		328000 -
/	Expenses of campaign workers / agents (Enclose as per Schedule –6)	2455	1		328000 - 24585W-
/I	Any other campaign expenditure				The state of the s
ar et a et a et a	Grand Total	8 33064	1		83306W-
	PART III: ABSTRACT OF SOUR	RCE OF FUNI	DS RAISED	BY CANDI	
No	Particulars		THE THE THE	grammatical control of	Amount (in Rs.)
	2		3		3
	Amount of own fund used for the election camp (Enclose as per Schedule - 7)				
I	Lump sum amount received from the party (ies) (Enclose as per Schedule -8)		ur eranea l'attitue.		10,00,000 -
I	Lump sum amount received from any person/ co persons etc. as loan, gift or donation etc. (Enclose as per Schedule -9)	ompany/ firm/	association:	s / body of	
-	Total			CANCEL PROPERTY.	1000000

Soumyoigit Dutta Chouchenry

# Schedules- 1 to 9: Details of Elections Funds and Expenditure of Candidate

Sch	nedule- 1				
Exp	enses in public meeting, rally, procession etc. (ie:	other than those	with Star Campaio	iners of the P	olitical party)
S.	Nature of Expenditure	Total Amount	Source of Expend		outon parcy
No		in Rs.	Amt. incurred / Auth. by Candidate / agent	Amt. incurred / by Pol. Party with name	Amt. incurred by others
1	2	3	4	5	6
1	Vehicles for transporting visitors				
2	Erecting Stage, Pandal & Furniture, Fixtures, poles etc.				
3	Arches & Barricades etc.	1 /			
4	Flowers/ garlands	1 /			
5	Hiring Loud speakers, Microphone, amplifiers, comparers etc.	655001-			
6	Posters, hand bills, pamphlets, Banners, Cut- outs, hoardings				
7	Beverages like tea, Water, cold drink, juice etc.				1
3	Digital TV -boards display, Projector display, tickers boards, 3D display				
9	Expenses on celebrities, payment to musicians, other artists remuneration etc.				
LO	Illumination items like serial lights, boards etc.			/	
.1	Expenses on transport, Helicopter/ aircraft / vehicles/ boats etc. charges ( for self, celebrity or any other campaigner other than Star Campaigner)				
2	Power consumption/ generator charges				
.3	Rent for venue				
4	Guards & security charges				19
5	Boarding & lodging expenses of self, celebrity, party functionary or any other campaigner including Star Campaigner				
6	Others expenses Incl. Scening nany	258101-			
5/1	Total	913101-	-		

## Schedule- 2

Expenditure in public meeting rally, procession etc. with the Star Campaigner(s) as apportioned to candidate (ie: other than those for general party propaganda)

Soumyojet Dut a Choudhung

	T			
S. No	Date and Venue	Name of the Star Campaigner(s) & Name of Party	Amount of Expenditure on public meeting rally, procession etc. with the Star Campaigner(s) apportioned to the candidate (As other than for general party propaganda) in Rs.	
1	2	3	4	5
1				
2				
3				
4				
Total				

### Schedule-3

Details of expenditure on campaign materials, like handbills, pamphlets, posters, hoardings, banners, cut-outs, gates & arches, video and audio cassettes, CDs/ DVDs, Loud speakers, amplifiers, digital TV/ board display, 3 D display etc. for candidate's election campaign ( ie: other than those covered in Schedule- 1 & 2)

S. No.	Nature of Expenses	Total Amount in Rs.	Sources of Ex	kpenditure		Remarks, if any
NO.		III KS.	Amt. By candidate / agent	Amt. By Pol. Party	Amt. By others	
1	2	3	4	5	6	7
1	Postes & Barrers -	1679001-				
2	ele.	/				
3						
4						
Total		1679001				

### Schedule- 4

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or internet or social media etc. for candidate

S.	Nature of	Name and address	Name and address of	Total Amount	Sources of E	kpenditure	
No	medium (electronic / print) and duration	of media provider (print /electronic /sms / voice/ cable TV, social media etc.)	agency, reporter, stringer, company or any person to whom charges / commission etc. paid/ payable, if any	in Rs. Col. (3) +(4)	Amt. By candidate/ agent	Amt. By Pol. Party	Amt. By others
1	2	3	4	5	6	7	8
1					/		
2							
3							
4							
Total				Sound	yojst Du	Ha Chon	Shury

												1				
SC	nedi	ile -5														
Det	talls (	of exper	diture	e on campa	aign ve	hicle (s)	and poll ex	kpendi	ture or	vehicle	(s) for	candida	ate's e	lection ca	ampaio	ın
S. No	R	egn. No ehicle &	of h	-liring Char				No.		Total a	ımt.	1	-	penditur		
		ype of ehicle	r v	Rate for Hiring of Wehicle / Maintenan	(If no		Driver's charges (If not covered under hiring)	white		auth. i	n Rs.	Amt. E candid agent		Amt. E Party	3y Pol.	Amt By othe
1	2		3	la .	3b		3c	4		5		6		7		8
1	D	to him	12	2800)-						275	308/					
2	1	ix								770	20-7					
3		(A	)											<del> </del>		
4		/														
Tota	al							- Automorphism		328	087-					
Sch	edu	le- 6														
Deta	ails o	f expen	diture	on Campa	ign wo	orkers / a	agents								110	
S.	177	ite and	Ехре	enses on Ca	ampaig	n worke	ers		Total		Source	ces of E	xpend	iture		
No	Ve	enue	Natu	ire of Expe	nses	Qty.	No. Of wo	orkers	incurr auth.	ed/ In Rs.	Amt. candi	date/	Amt. Party	By Pol.	Amt.	
1	2		3a			3b	3c		6		7		8		9	
1	For 18	13/16		paign work orarium/ sa					245	85h						
2		to	Boar	ding						1	1					
3	la	15/10	Lodg							/						
1			Othe	rs						. 1	/					
	Tot	tal					1		24	SBSN	\					
Sche	edul	e- 7			1000											
)eta	ils of	f Amoun	t of o	wn fund us	sed for	the elec	ction campa	iign			aretua-us-x				- See	
5. No	0.	Date		Cash			DD/ Cheque letails of dra			h	Total Rs.	Amount	t in	Remarks	3	
	0.	2		3		4	1				5			6		
								201000								
2			70					/			C	00)	& A	osta C	2	16
3					2.5						Sout	7799	6	MOU C	yyua	- C
1					_											

Tota					<				-	
Sch	edule- 8									
Deta	ils of Lump sum amo	ount rece	eived	from the	party (i	es) in o	cash or ch	neque or DD or b	y Account Transf	er
5. No.	Name of the Politic	al Party	Date		Cash			eque no. etc. tails of drawee	Total Amount in Rs.	Remarks, it
1	2		3	FEE S.	4		5		6	7
1	BJP'		22	-3/16			R-	TGS	1000000	+
2									1	
3										
1										
	Total				100				10,00,000	
Sch	edule- 9	1 11 13								3-4000MA 5-04-111
	nils of Lump sum amo	ount rece	eived	from any	person,	/compa	any/firm/a	associations/body	y of persons etc.	as loan, gift (
S. No.	Name and address	Date		Cash		no. et detail	Cheque tc. with s of ee bank	Mention whether loan, gift or donation etc.	Total Amount in Rs.	Remarks
1	2	3		4		5		6	7	8
1										
2										
3							We the state of the			
3										

### Note:

1. In Schedule 5:-

(a) copy of the order containing list of all vehicles for which permit issued by the Returning Officer to be enclosed.

(b) If the vehicle is owned by the candidate/his relative/agent are used for election purpose, notional cost of hire of all such vehicles, except one vehicle if owned and used by the candidate, notional cost of fuel and drivers salary for such vehicle, shall be included in total amount of expenditure in the above

2. In all schedules if any expenditure on goods and services, provided by the Political Party; or provided by any person/ company/ firm /associations/ body of persons etc. on behalf of the candidate, then the notional market value of such goods or services are to be indicated, in respective columns.

3. In Part -III, the Lump-sum amount of fund received from the political party or others or the candidate's own funds, should be mentioned date wise. In all such cases such amounts are required to be first deposited in the bank account of the candidate, opened for election expenses.

be first deposited in the bank account or the candidate, opened by the candidate.

4. Each page of the Abstract Statement should be signed by the candidate.

Sournysjis Justa Cloudhury.

# DETAILS OF EXPENDITURE ON VEHICLES USED

7	-		-
1	١		
ć	-	4	Ė
e.	⋗	5	
Ž			
		Г	>
N		2	
2	×		
-		_	
		-	-

Vo.         Type of cle         Permit No. Hiring of lessued by Charges (if Charges (if Permit No. Hiring)         Fuel Listued by Permit No. Hiring of Larges (if Permit No. Hiring)         Driver's Charges (if Charges (if Charges (if Permit No. Hiring))         No. of Days Amount Ispent by the Spent				R	Rate for Hiring				Break-Up of Total Expenditure	f Total Exp	penditure
Penicies   R.O	Regn. No.	Type of	Vehicle Permit No.		Fuel Charges (if	Driver's Charges (if	No. of Days	Total	Amount spent by the	Amount spent by	Amount spent by any other
2   3   4a   4b   4c   5   6   7   8     TATA   Rs. 2000/-per	of Vehicle	Vehicle	issued by R.O	Vehicles/ Maintenance	not covered under hiring)	not covered under hiring)	used	incurred	candidate election agent	the Political Party	associatio n/body of person/in
TATA	4										dividual
TATA   Rs. 2000/-per   12 days   24,000/-   24,000/-   -	I	2	Cu,	4a	46	4c	5	6	7	00	9
ALTO   Day	AS-24-C	TATA		Rs. 2000/-per			12 days	24,000/-	24.000/-	1	ı
ALTO       Rs. 1500/-per Day       12 days       18,000/-       18,000/-       - <td>0761</td> <td>OMO</td> <td></td> <td>Day</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>	0761	OMO		Day							
BOLERO	2464	ALTO		Rs. 1500/-per Day			12 days	18,000/-	18,000/-	1	1
## TOYOTA   Per Day   14 days   28,000/-   28,000/-   28,000/-   28,000/-   28,000/-   28,000/-   28,000/-   28,000/-   28,000/-   -   -   -   -   -   -   -   -   -	AS-11-K	מקוומ		Rs. 2000/-			4				
TOYOTA   Rs. 2500/-per   12 days   30,000/-   30,000/-   -	3915	BOLEKO		per Day			14 days	28,000/-	28,000/-	i	1
ALTO Rs. 1500/-per 12 days 18,000/- 18,000/	AS-24-A	TOYOTA		Rs. 2500/-per			12 davs	30,000/-	30.000/-	1	
ALTO       Rs. 1500/-per Day       12 days       18,000/-       18,000/-       -       -       -         ALTO       Rs. 1500/-per Day       12 days       18,000/-       18,000/-       -       -       -         EON       Rs. 1500/-per Day       12 days       18,000/-       18,000/-       -       -       -         ALTO       Rs. 1500/-per Day       9 days       13,500/-       13,500/-       -       -       -         ALTO       Rs. 1500/-per       1 days       2,000/-       2,000/-       -       -       -	2000			Duy							
ALTO       Rs. 1500/-per Day       12 days       18,000/-       18,000/-       -       -       -       -         EON       Rs. 1500/-per Day       12 days       18,000/-       18,000/-       -       -       -         ALTO       Rs. 1500/-per Day       9 days       13,500/-       13,500/-       -       -         ALTO       Rs. 1500/-per       1 days       2,000/-       2,000/-       -       -         ALTO       Rs. 1500/-per       0 days       13,500/-       13,500/-       -       -	AS-24-C 5124	ALTO		Rs. 1500/-per	8		12 days	18,000/-	18,000/-	8	ı
EON       Rs. 1500/-per       12 days       18,000/-       18,000/-       -	AS-24 2325	ALTO		Rs. 1500/-per			12 days	18,000/-	18,000/-	1	1
ALTO Rs. 1500/-per 9 days 13,500/- 13,500/	AS-24-A	FON		Rs. 1500/-per			12 days	/000 81	1000/		
ALTO Rs. 1500/-per 9 days 13,500/- 13,500/	3352	501		Day			12 mys	10,000/=	10,000/-	1	
TATA  Rs. 2000/- SUMO  per Day  Rs. 1500/-per  0 days  1 days  2,000/- 13 500/- 13 500/- 13 500/-	AS-24-A 9757	ALTO		Rs. 1500/-per			9 days	13,500/-	13,500/-	1	1 ,
SUMO per Day 1 days 2,000/- 2,000/ 2,000/	AS-24-C	TATA		Rs. 2000/-		0	4				
ALTO Rs. 1500/-per 9 days 13 500/- 13 500/-	1624	SUMO		per Day			1 days	2,000/-	2,000/-	1	1
7 44/3 15,500/- 15,500/-	AS-11-D	ALTO		Rs. 1500/-per			9 days	13,500/-	13,500/-		1

Manub Chakrabout, Election Agent LA-6

1	1	3,28,000/-	3,28,000/-					
1	1	44,000/-	44,000/-	44 days		Per Day	BOLERO	AS-11-K 3915
ī	1	9,000/-	9,000/-	6 days		Rs. 1500/-per Day	MAGIC TRUK	AS-15-C 7647
1	1	12,000/-	12,000/-	8 days		Rs. 1500/-per Day	WAGONER	AS-24-A 3363
ı	ı	22,400/-	22,400/-	8 days		Rs. 2800/- per Day	SCORPIO	ML-10/A 0174
ı	1	18,000/-	18,000/-	9 days		Rs. 2000/- per Day	MAXIMO	AS-24-C 4443
ı	1	13,500/-	13,500/-	9 days	L.	Rs. 1500/-per Day	MARUTI VAN	AS-24-A 5775
ı	1	13,500/-	13,500/-	9 days		Rs. 1500/-per Day	MARUTI VAN	AS-24 1975
1	ı	13,500/-	13,500/-	9 days		Rs. 1500/-per Day	MARUTI VAN	AS-25-A 6239

Marab Chakrabout 7
Bleefon Agant - EA-6



BEFORE THE DISTRICT ELECTION OFFICER, HAILAKANDI (ASSAM)

I, Sri Sourgyojit Dutta Choudhury, S/O-Sankar Dutta Choudhury aged 38 years R/O- Mission Pally, P.O & P.S-Ramkrish Nagar, Dist- Karimganj do hereby solemnly affirm and declare as under:-

- 1. That, I was contesting candidate at the general election to the Legislative Assembly of Assam from L.A-6 Hailakandi Assembly constituency, the of which was declared on 19/05/2016.
- 2. That I/my election agent kept a separate and correct account of all expenditure incurred / authorized by me / by my election agent in connection with the above election between 18/04/2016 to 19/05/2016.
  - A. That the said account was maintained in the Register Furnished by the returning officer for the purpose and the said Register itself is annexed hereto with the supporting Vouchers/bills mentioned in the said account.
  - B. That the account of my election expenditure as annexed hereto includes all items of election expenditure incurred or authorized by me or by my election agent , the political party which sponsored me, other associations/ body of persons and other ndividuls supporting me in connection with the election ,and nothing has been concealed or withheld / suppressed therefrom (Other than the expense on travel of leaders' covered by Explanations 1 and 2 under section 77(1) of the Representation of the People Act, 1951
  - C. That th abstract statement of election expenses annexex as Annexure II to the said account also includes all expenditure incurred or authorized by me ,my election agent , the political party which sponsored me, other associations/ body of persons and other individuals supporing me, in connection with the election.
  - D. That the statements uin the foregoing paragraphs (1) to (5)are true to the best of my knowledge and belief, that nothing is false and nothing material has been concealed.

K. CHOUDHURY ALvocate NOTARY Dist -Hailakand Hailakandi Bar-Association



## DEPONENT

Solemnly affirmed/sworn by Soumyojit Dutta Choudhury at Hailakandi on this 15<sup>th</sup> Day of June 2016 before me.

BEICHAR KARTI DHAR, Advocate Dist. Bar Association, Hallakandi E-mail-shekhu.hkd@gmail.com Enrollment No.-305/2013 Mob. No.-9678729499

Soumposit Xatta Choudhury

Noting Public
Hailahadi

NOTARY DISL-Hallakand Hailakandi Ber-Association